EMCC ESTIMATED SEMESTER & YEARLY TUITION FEES WORKSHEET FOR 2017-18									
AUTOMOTIVE PROGRAM									
ALL TUITION & FEES SUBJECT TO CHANGE	R	RATES		Credit		Fall 17 Amount	Credit	Spring 18 redit Amount	
Tuition (per credit hour) - In State	\$	92.00	x	16	\$	1,472.00	17	\$	1,564.00
Tuition (per credit hour) - Out of State	\$	184.00	x		\$	-		\$	-
Tuition (per credit hour) - Apple	\$	138.00	x		\$	-		\$	-
Comprehensive Fee (per credit hour)	\$	9.20	x	16	\$	147.20	17	\$	156.40
Information Technology Fee (per credit hour)	\$	9.00	x	16	\$	144.00	17	\$	153.00
College Activity Fee (per credit hour)	\$	3.00	x	16	\$	48.00	17	\$	51.00
Safety & Security Fee (per credit hour)	\$	2.50	x	16	\$	40.00	17	\$	42.50
TECHNOLOGY FEES (per technology/program credit hour)									
Automotive/Diesel Truck & Heavy (ATA, ATT, ATH)	\$	18.40	x	10	\$	184.00	11	\$	202.40
Communications,Humanities,Learning Assistance,Math & Social Sciences	\$	9.20	x	6	\$	55.20	6	\$	55.20
Course Based Fees									
Technician Test Prep-Automotive (Fall - ATA 100, 215)	\$	70.00			\$	70.00			
Inspection Fee (Fall - ATA 124)	\$	34.00			\$	34.00		\$	-
Engine Performance and Diagnoisis (ATA 220) Third Semester	\$	35.00							
MATRICULATION FEE									
One time fee covers costs associated with student orientation and graduation	\$	70.00			\$	70.00		\$	-
ROOM AND BOARD									
Room Charge - Acadia - Double per semester (DO)		1,850.00			\$	1,850.00		\$	1,850.00
Room Charge - Kineo - per semester (KN)		2,250.00			\$	-		\$	-
Meal Plan A		2,150.00				2,150.00		\$	2,150.00
Meal Plan B		1,752.00			\$	-		\$	-
Resident Security Deposit	\$	100.00			\$	100.00		\$	-
Resident Recreation Fee-per semester	\$	65.00			\$	65.00		\$	65.00
Estimated Other Costs	<u> </u>								
Estimated Supplies , Materals, & Tools (Type estimated cost/Department)	\$	-				2,000.00		\$	
Estimated Books per Technology (cost per Tech per Bookstore)	\$	-			\$	500.00		\$	500.00
ESTIMATED BILL INCLUDING ROOM AND BOARD					\$	8,929.40		\$	6,789.50
Eastern Maine Community College reserves the right to change costs without prior notice. This worksheet has been prepared to									

4.0

Eastern Maine Community College reserves the right to change costs without prior notice. This worksheet has been prepared to provide the student with an ESTIMATE of the semester/yearly tuition, fees, supplies, books, room and board. The actual semester bill will be generated by the Business Office. Please refer to The College Catalog for further financial information.

updated 7-19-17

## Compatibility Report for Automotive - 2015-16 Cost Sheet.xls Run on 9/4/2015 8:05

The following features in this workbook are not supported by earlier versions of Excel. These features may be lost or degraded when opening this workbook in an earlier version of Excel or if you save this workbook in an earlier file format.

## Minor loss of fidelity

# of occurrences

Some cells or styles in this workbook contain formatting that is not supported by40the selected file format. These formats will be converted to the closest formatavailable.

## Version

Excel 97-2003